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GOA PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR THE POST OF
MAMLATDARAIT, MAMLATDAR/ASSTT. DIRECTOR
OF CTVIL SUPPLIES

Time : 2.30 P.M. TO 5.30 P.M. (3 hours) Marks : 100
Date : 01-04-2000

Instructions to the Candidates

1. Answer all the questions. .
2 ;II‘! questions carry equal muarks.
3. Answers should be bricf and fo the poin(.
4. Answer to cach question shall not exceed 20 senfencees.
S Candidutes shaulid cite caves & authorities and should bring out recens treundds.

£

SEGTION -1 - LAW
IS x5 = 75 Marks
"

1. lo what zxtent the concept of “duc process ol law™ is being coosidercd as a
requirement for a valid legislation affecting the rnights of Individual ?

| 392

Examine the impact of S.R. Bommai V. Union of India (1994) as a criterion to
assess “breakdown of Constitutional machinery”™ to impose President’s Rule m a
i

ofate.

3. “In the Scheme of Indian Constitution, the Supreme Court of India has been
successful in enforcing Directive Principles of State Policy through the medium of
Fundamental Rights.” Comment.

4. Examune how far TLaw has been effectively used as an instrument of social
cngineering in the light of Roscoc Pound’s theory.
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8. Fxamine how far the maxim “Nemo debet esse judex in propria causa” regulated
administrative decision making ?

9. What are the grounds on which the Judiciary can review an administrative,
discretionary action ?

10. How far admission is relevant as evidence ?
11. “The burden of proof lies upon the one who alleges the fact as true.” Comment.

12. Who is a deemed tenant and what are his righls under the Goa, Daman and Diu
Agricultural Tenancy Act, 1964 ?

13. When a Mundkar can be evicted from his dwelling house ?

14. “For a valid Contract consideration need not be adequate but should be real.”
|
Examine the correctness of the statement with the help of decided cases.

15. “The plaintiff in an action in contract can recover damages for real and actual loss

but not imaginary loss.” Comment.

PART - 11 - GENERAL KNOWLEDGE
Duration : 30 minutes

Sx1 = 5>Marks

1. Name the Public Office/ Award held by at the following personalitics (Any five)

a) Amartya Sen.

b) Kofi Annan

¢) J.S. Verma

d) Yukta Mookhey

e) Mafd‘clcin.e Albright
f) Pervez Musharraf.

g) Mohd. Fazal
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2. Answer any five of the following :- : S5x1 = 5 Marks

a) Name the Indian pair who held the No. 1 ATP Ranking in Tennis Doubles.

b) Name the bowler who secured the highest number of wickets in one-day

internationals upto the year 1999.
¢) Name the winner of Rovers Cup for 1998-99.
d) The term “Chinaman” is associated with which game ?
¢) Uber Cup is associétcd with whic}h game ?
f) Name lthe venue for .thc next Olympics.

g) Name the first Indian Grandmaster in Chess ?

3. Name any five of the following :- : Sx1 = 5 Marks
a) The founder of “Indian National Congress”
b) The author of “The God of Small Things”
¢) The Director of the film “Titanic”
d) The Chairman of “Constitdent Assembly”
¢) The winner of Grammy Award — 2000 for 1‘1\é “Album of the Yecar”
f) Computer wizard of the century.

g) The founder of Indian Institute of Science, Bangalore and the Nobel Prize
winner in Physics for the discovery of the phenomenon of scatiering of light

rays.

2

Marks

'h

4. Answer any five of the following :- x1 =

a) The longest river in the world.
b) The largest and oldest occan in the world.
¢) Printing Press was inventedby
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. less than that of another station.
1) Station A 18 10 cycles lower than station B.
2) Station B 1s 20 cycles lower than station C.
3) Station D 1s 50 cycles higher than.station B
4) Station E 1s 10 cycles higher than station I
5) Station F is 30 cycles lower than station B.

What is the order of stations from the highest to the lowest frequency.
1) DCBAFT, i) ABFEDC i) FEABCB
v) CBALFED V) DCBAEF

b) TFind the relationship Glove : Ball  as

A) ITook : Fish B) Winter : Weather

@) Game : Pennant D) “Stadium : Scats

¢) In the following group, one does not belong to that group - Find the odd man.

A) Iife B) Wife\ \{J Strife D) Heat

d) Which is cheaper, 7 lemons for 90 paise or 10 lemons for 120 paise.
A) 10 lemons for 120 paise.
B) 7 lemons for 90 paise.

) Both are equallv priced.

e) A student has to score 40% for passing an examination. But he scores 40 marks
and fails. If he had scored 1/4™ of his sccured marks more. he would have

passed. What is the total number of marks for the examination ?

A) 120 BB) 125 ) 100 D) 150

Ao ke ke ok ok
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